12.4 Analyzing Graphs
Features of a Graph:

1. The x- and y-intercepts: If y = f(x), find the x-intercepts by setting y = 0 and solving for x; find
the y-intercept by setting x = 0 and solving for y.

2. Relative Extrema: Use the technique of section 12.1 to find relative extrema.

3. Points of Inflection: Use the techniques of section 12.3 to find points of inflection.

4. Behavior near points where the function is not defined: If f(x) is not defined at x = a, consider
lim f(x)and lim__ | /() to see how the graph behaves as x approaches a.

5. Behavior at infinity: Considerlim __, f(x) , if appropriate, to see how the graph behaves to
the left and the right as x gets extremely large.

Examples: Sketch the graph, label everything.
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